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This contribution proposes a draft report of the layer 2 drafting session that took place during the last TSG GERAN ad-hoc. It is proposed that this report be approved by TSG GERAN.

The aim of this session was to start discussing which layer 2 shall be used in GERAN Iu mode.

GAHW-000240
Requirements for signalling radio bearers design for GERAN R4 (Iu mode).

It was revised from GAHW-000227. The contribution is proposing to get rid of LAPDm for GERAN Iu mode; however some recommendations are given in case it were kept, e.g. to minimise the changes, …

Alcatel commented that we should be able to keep TBFs alive also for SRBs. Ericsson then asked whether 4 TFIs are needed and whether it makes sense. Alcatel answered we could maybe have one TFI for 4 TBFs. Lucent replied that the concept was rejected a few meetings ago. Alcatel reacted that it was rejected for another issue and now this is a new problem we have, therefore it should not be bluntly rejected.

Lucent asked whether we can agree on the SRB concept. Everybody agreed that we need them.

The chairman proposed that we see which SRBs are required and what they are used for; Lucent suggested we use their contribution GAHW-000197 as a start for discussion. This is an excerpt from that contribution:

“- RB 1. For AS RRC messages using Unacknowledged mode RLC (UM-RLC).

- RB 2. For AS RRC messages using Acknowledged mode RLC (AM-RLC). It is also used for Initial Direct Transfer message using AM-RLC.

- RB 3 and RB 4. For Uplink Direct Transfer and Downlink Direct Transfer messages using AM-RLC. RB 3 is for “high priority” NAS messages and RB 4 is for “low priority” NAS messages. The priority is set by the NAS layers. If RB 4 is not available, RB 3 is used.”

Alcatel asked whether we should have separate RB Id’s were we to use different layer 2 protocols. In that case, we would need additional RB’s.

Discussions went on regarding whether we should get rid of LAPDm at all. Alcatel insisted that the services offered by LAPDm are actually not all supported by RLC, far from that (e.g. establishment of multiframe operation, suspend/resume procedures for handovers, …).

Nokia asked whether we need to cipher RRC messages.

Alcatel asked how we bridge the gap with UTRAN since we have removed LLC that was offering a logical link establishment; this is not supported by GPRS RLC but it is by LAPDm. Siemens answered that RRC is offering such a logical link.

Nokia then asked whether one can have SDCCH without LAPDm. It was proposed to introduce a new code point in RACH to tell that the MS wants to establish an RRC connection, and then the network knows that RLC/MAC protocol will be used on SDCCH. Alcatel raised the issue of what is used to carry SDCCH given that RSL links are used today.

Nortel suggested that companies should come with a proposal whether to get rid of LAPDm or not at the next meeting.
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